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30 4+ x = 105
x + 80 = 154
334+ x =103
139 =69+
29+ 2 =110
x+ 85 =184
x + 38 =137
191 =91+=x
x+ 17 =63
60 =27+ x
117=53+=x
103 =z + 74
77+ =162
N +ax =174
x + 36 = 51
x + 11 =55
91=37+x
139 = x 4+ 48
r+4 =43

77 =x+25

Solving addition for x #3
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124 =47+ x
8=T1+x
115 =24+=x
50 +x =131
x4+ 66 = 115
x+20=117
M4 =34+
143 =50+
2l=4+x

179 =2+ 99
1N7=73+=x
90 = x + 87
x + 89 =130
154 = x + 81
142 =0614+x
r+02="71
x4+ 15 =20
70 +x = 105
T +9 =22

8+x =111



Solving addition for x #3 (Solutions)
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26) x =97

z =99



